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How to Calculate a Discount Rate
First you determine the cap rate.

By Joseph J. Ori

CRE practitioners frequently discuss the calculation and application of capitalization rates in
making investments, however, there is not much posited on the discount rate used in CRE financial
analysis. As you recall, the capitalization rate is determined by two methods; the net operating
income divided by property value or by a formula. The formula is the risk-free rate plus a risk
premium less a growth rate. The risk fee rate is U.S. Treasury securities, typically, the 10-Year T-Note,
which is currently 4.20%. The CRE risk premium, which | believe has typically been between 3% and
10%, however, there is virtually no historical information or data on this rate. For this analysis, due to
higher interest rates and lower values, we will estimate it at 7%. The growth rate is the growth in a
property’s income and with the current soft CRE market, it is estimated at 2.0%. Therefore, an
average cap rate would be calculated today as follows; 4.20% + 7% — 2.0% = 9.20%.

This is an average cap rate and must be adjusted further for specific property types and location.
For example, if the project is an industrial warehouse in Miami, the risk premium can be reduced to
5.0% and the growth rate increased to 3.0%, for a cap rate of 6.20%. The cap rate is only applied to
the one-year net operating income to determine value because it already includes a growth rate,
which in this example is 2.0%. The cap rate is also equivalent to the inverse of the EBITDA multiple
(enterprise value divided by EBITDA) and the price-earnings ratio (stock price divided by the
earnings per share) used in corporate finance.

The discount rate is the rate used to discount to net present value of a stream of CRE cash flows
over some time period, usually 5, 7 or 10 years. The stream of cash flows can be either the net
operating income, net operating income after tenant improvements, leasing commission and
capital improvements or net cash flow to the equity investor. The discount rate is determined from
the first part of the cap rate formula as the risk-free rate plus the risk premium and in the example
above, would be 4.20% + 7% or 11.20%. The growth rate is not deducted as in the cap rate formula
because the discount rate is applied to a series of cash flows and not a one-year net operating
income. The discount rate is then used to discount the yearly cash flows and the terminal value of
the property, which is determined by applying the cap rate to the next year's net operating
income. The discount rate will always be higher than the cap rate as long as income growth is
positive.

Many public REITs use the above calculations to determine their cap rates and discount rates.
However, since they are public companies with secured and unsecured debt, preferred stock, and
common stock, they can also determine a discount rate by calculating their weighted average
cost of capital (WACC) as deliberated in corporate finance. The WACC is the weighted average
cost of the REITs, long-term debt plus preferred stock, if any, and common stock. The cost of debt is
the yield on the debt times its weight in the capital structure and excludes the tax effect because
REITs are not subject to income tax. The cost of preferred stock is the dividend divided by the price
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and the cost of common stock is determined by the capital asset pricing model (CAPM). The
CAPM is the risk-free rate plus the stocks beta times the sum of the market return less the risk-free
rate. Most of the large capitalization REITs have WACCs of 8%-11%.
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